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1. Choose the correct optlon - 1x6=6

(@) In the general solutlon of second-order |
d1fferent1al equatlon
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() [Expanding the following output from a
half-wave rectifier
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2. Answer ‘any three«ftdm_-:thé fqllowing . 2x3=6
@ Solve : 
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%) Find a solution of the non- homogeneous

equatlon
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! ;é) Show that
B Fo=x)=(-1)" B, ()
(d] Prove that
! B (m,' n = B.(n,, m)

3 (a)’ If f (z) U+ivis an analytlc funection and
.;.,;--?P = vz +uj is a vector then show that

d1v F 0 and curl F O are equlvalent
to Cauchy-R1emann equatlon :

_usmg Frobemus S method' A

{b} Show that By
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X% Prove that
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kd) Lonsider the equation

Lgi+g_
dt' ¢

.where q _[ldt L = coefﬁc:lent of self-

" 1nduct10n and C capa01tance Solve

the above equat1on and ‘determine the

~_constants :in such a way that I is the
' max1mum curren'j"fan'z =4 *Wheni 4

5. Answer any two questlons from "the

,, fo]lowmg i, P £ DT 5><2—10

i (a) ,Prove that 1f f (z) 1s an analyt1c funchon
: of z and f (2 ls contmuous at each
’pomt W1th1n and on a ciosed contour C,

kfma o

(¥ . Obtam the Laurent senes expansmn of
f@-- |
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(90 Find the series of sines and cosines of

multiples of x which represents f(x) in
the interval -n < x <mn, where

f(x)=0 <.when -n<x<O0 /

X .
when O<x<n .
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: {I)} Develop f x) in Founer senes in the

mterval (——2 2',1f f(x) 0 for —2<x<0 4o
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'express it by a sme senes and also by
a cosine series.
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